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" 251 | FIRST REVISION EXAMINATION- 2025
L~ |

10-std MATHEMATICS

TIME : 3.00 Hrs MARKS:100
PART I

CHOOSE THE CORRECT ANSWER: ' . 14x1=14

1 A={a,b,p}, B={ 2,3}, C={p,q,r,s}then n[(AUC) X B] is
) 8 (b) 20 (c) 12 () 16
2.1 fis 2 identity function, then the value of f{1)-2f(2)+f(3) is”

G) 1 ®) o (@ -1 (d) -3

=)= (&) 5 (c) 8 (@) 11

: T 30t 1 1
~. iIne neaxt term of the sequence e g I am

. 1. i : )

. 1 2 d) =4

!\a) 24 (_b) 27 (C) 3 ( ) g1
5. .:.}'—3+ 7—;.=’7 =

¥ 3:'9"
,_y SF o= z:y:“:z;.-:-z{ d) 707 =2y+1) -
(@) (b) (21y—21} () 353 ; ( ¥ -
i 5 7 -

y
s W

6. Fortheg%venm%aaﬁxA=(2 6 8 | the order of the matrix AT is
lg 11 1315

(g} 233 . (b)}3X2 (c) 3x4  (d) 43

p = T_wo poles of heights Emand 11m stand vertically on a piane ground. |If the distance between their
feet is 12m, whatis the distance between their tops?

(3)13m  -(b} 14m - {c)15m (d) 12.8m .

8. The zrea of triangie forméd by the points {-5,0), (0, -5) and (5,0)is

{z) 0 sg.units {b) 23 sq.-units (c) 5 sq.u_nits (d) none of these |

3. The value of ‘a” if the linas 7y = ax+4 and 2y =3 - x are parallel oy ) <

=2 0 @ T -
(2) ® - @3 2 { RSl 1f MATHS (EM) P-1
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b

-
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10. If the ratio of the height of a tower and the length of its shadow is V3 :1 thenthe angle of
elevation of the sun has measure | ‘ '
(b) 30° () 90°  (d) 60°.

‘(a) 45°
ed t‘ogethek along their bases, then

11. If two solid hemlspheres of same base radjus r units areJO'n
urved surface area of this new sol|d is ; o :
“(d) 8nr? sqg. units'

(a) 4mrr? sq.units (b) 612 sq.units (c) 3mr?sq.units

12. Afrustum of a nght circular cone is of height 16 cm with radu of its ends as 8cm and’ 20cm Then

—

the volume of the frustumis :
' - ) P ’ . 3
(a) 3328 mcm® (b) 3228mem® | (c) 3240mcm’ ~ (d) 33407 Cm

13. Variance of first 20 natural numbers is

(2)32.25  (b) 4425 () 3325  (d)30 1
14. Aletteris selected at random from the word PROBABILITY’ 4 then the PrObab"'ty that the letter is

/

not a vowel i is. - % o - i
4 T AN 3 6 - it 7 A = =Ty S A e o
(@) - (b) 7 - (o3 (d) o7 =5t v . W, e o ol e
' PART II o
iy 10X2=20' 1

ANSWER ANY 10 QUESTIONS QUEST[ON NO. 28 lS COMPULSORY
15. Let A={1,2,3}and B={x]| xis a prime number less than. 10} Find AxB and B xA E sl
16. Let f be a function from R to R defined by f(x ) X 3x 5 Fmd the values a: and b glven that (a 4) and :
(1,b) belong to f. - A SRS A
17. If 13824 2°x 3° then find a and b.

18. Find the sum of 102, 97,92, .upto 27 terms. SO AR

19, Find the LCM of x*-27, (x-3)
20. Solve 2x* - 3x — 3 = 0 by formula method.5

21. Find the value of 3, b, c,dfrom t_heequatiohl [ ——bb g?:é] = [(1) g] [ ‘ v‘ , \ |
22. In two concentric cnrcles, a chord of length 16 cm of larger circle becomes a tangent to the smal!er

circle whose raduus is 6 cm. Find the radius of the larger circle.

23. Show that the given pomts are colhnear (- -3 -4), (7,2) and (12.5). 58
e

24, A-player sitting on the top of a ) tower of height 20 m observes the angle of de'bféss'ion of a ball Iyiﬁg
on the ground as 60°. Find the distance between the foot of the tower and the ball. (v3' =1.732). ;
> RA1 10 MATHS (EM) P-2
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ANSWER ANY 10 QUESTIONS. QUESTION NO.42 1S COMPULSORY:

- 37.

38. If
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25. The curved surface area of a rlght circular cylinder of height 14cm s 88cm?. Find the diameter of

the cylinder. T : -

(

26. Fmd the- standard deviation of first 21 natural numbers

27. Adieis rolled and a coin is tossed sxmultaneously Find the probabnluty that the die shows an odd
number and the coin shows a head. < : ,

28. The slant height of a frustum of a cone is 4m and the penmeter of circular ends are 18m and 16m
Find its curved surface area. - :

PARTII . 1
| 10X5=50

29. Let A={1,2,3,4} and B={2,5,8,11,14} be two sets. Let f: A~ B be a function given by f(x)=3x-1

- Represent this functlon (i) by arrow diagram (i) in a table form (iii) as a set of ordered pairs (IV) ina

graphical form. _ . | :

30. lff(x) g(x) = 2x and h(x) x+4 Show that (f o g) o h fo(go h)
31 The ratio of 6™ and 8 ™ term of an A Pis7:9. Fmd the ratlo of 9 term to 13 b term .
32. Find the sum to n terms of the serres 0.4 + 0.44 +.0.444+... to n terms. '

33. Find the square root of the bolynomia_l - 37x* - 28x3 + 4x° + 42 x+ 9’ by division method
34.-Ifa ,\,B are the roots of - 7x 2+ ax+2 and if B -a =———;—3- . Find the‘values 'of,.

)7

: 1 1 A 2 (27 R 4 A g -
35. H’A—[_1 3]“ B.= [_4 2] C 3 [3 9 ZJ . VerlfythatA(B+C)—AB/+AC. .

36. State and prove angle bisector theorem.

s

Find the area of the quadrllateral whose vertlces are at ( 9 0), (- 8 6), ( 1,- 2) and (- 6 3)

/

COS(I ' cosa.
osf mand _sinﬂ =n, then prove that (m n* )cos B n?

39. The internal and external dlameter of a hollow hemuspherlcal shell are 6 cm and 10cm respectlvely

If it is melted and recast.into a sohd cyllnder of diameter 14 cm, the fmd the helght of the cyllnder

- 41.. A box contains cards numbered 3, 5 7,9,..

40. The time taken (in minutes ) to complete a homework by 8 students ina day are given- by 38 40, 47,
44, 46, 43, 49, 53, Find the coefﬂcrent of varlatlon ‘ ( ,
35 37. A card is drawn at random from the box Find
the probability that the drawn card have elther multlples of 7 or a prime number.

42. A straight Ime ABcuts the co- ordlnate axes at A and B. Ifthe mid ponnt of AB is (2 3) Fnd the

equatlon of AB. _ /
S N O X | 1OMAT.‘.)S (EM) P-3
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PART IV :
) 2)(8:1
ANSWER ALL THE QUESTIONS: _ 2

2 e correspondm
43.(a) Construct a triangle similar toa gnven triangle ABC wnth its sides equal to of th g
sides of the triangle ABC. (scale factor to § >1)

»

. (OR)

- ate
(b)Draw a circle of radius 4 cm. At apointLon it draw a tangent to the circle using the altern
segiment theo.em \

a4.(a) A school announces that for a certain competntlons the cash pnce wnll be dlstnbuted for all the

participants equally as show below

(i) Fmd the constant of var!‘-mon

(ii) Graph the above data and hence, fnd how much will each partlapant get if the number of
partlupants are 12 : : ; f € Pyt P

'(OR)

(b) Dra'w.the g;‘aph' of y =X’ -4x +3 and use itto SOIve x*—6x +9=0"

yo-
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